H & 0l & AHS B Ml A

FA WS
M #ReHAH(REW)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ME=N; 46,120,054 55,187,599 A9,067,545
= 701,590
[ 632,000
Il 60,000
< 3,588,940
Al 41,137,524
HY2HZH(nsS) 26,900 26,660 240
Jl=23H| 26,900 26,660 240
Jl=23H] 26,900 26,660 240
201 fet=23y| 10,900 10,660 240
01 AtR2te|HI 10,900 10,660 240
Oget+=EHI 3,100
—JIZ2 AREEHI 30,0002 28 840
—HRFN EAFY 20,0003 +5& 100
—a2d 28 78 70,0002+ 128 840
—42 =48 60,0002 * 122 720
—N2F=EE 10,0003 x5+ 123 600
O=gl 7,800
—J 2R S| 7,800,000& 7,800
202 04t 9,000 9,000
01 =LHOHI 9,000 9,000
OJlE2ss =L 9,000,000& 9,000
203 =4l 5,800 5,800
03 A=A 2= 1,000 1,000
OAIBFT AR =] 1,000,000& 1,000
M EASHLRFAH 4,800 4,800 0
ORNESgER=aHI 400,000 =123 4,800
204 APt AH| 1,200 1,200
01 MG AR Y| 1,200 1,200
O 100,000& * 122 1,200
Hsns 243t 37,528,855 36,062,685 1,466,170
= 697,000
[ 632,000
Il 60,000
== 807,800
Al 35,332,095
t=suwsE MEXS 34,320,131 33,660,915 659,216
= 697,000
[ 632,000
Il 60,000
== 807,800
Al 32,123,331




SA: DED
3 UsusS gdst
el HsnsE MEXH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
H=ws 018 A2 HE I 3,685,231 2,746,941 938,290
= 31,000
Al 3,654,231
201 er2 3| 35,540 13,940 21,600
01 AtR2te|Hl 35,540 13,940 21,600
OAlUHA =& AIZE S HH
80,0002 *400H 32,000
Oosus 82 s+ M
66,0002 10 660
OnsHEEd 22|
8,0003 65« 12 2,880
202 04dl 6,691 6,691
01 =LHNHI 6,691 6,691
OsusgEsxd S 2,400,000& 2,400
Ouszd 2.5 AR 39 A
2,300,000 2,300
OAH2HM X S 1,991,000& 1,991
307 elztol & 3,581,000 2,276,310 1,304,690
09 2+ AHAELS 3,581,000 2,276,310 1,304,690
OusSItE 0l ARl X 2,801,000
—0{elo] geloh X3 117,000,000 117,000
—&Ad ol X3 1,584,000,000& 1,584,000
— o ol X3 300,000,000& 300,000
—012a gl X3 800,000,000& 800,000
SIES A2 = 665,000,000 665,000
OAlLIH A nSoHe Z2H =8 X
100,000,000 100,000
Ol+=3g 58 2g&d MIEX2
15,000,000 15,000
308 AXIMSOIA 62,000 0 62,000
= 31,000
Al 31,000
18 SISt AS A 62,000 0 62,000
OZEuWSIHE XNEAME 24,000,000& 24,000
= 12,000
Al 12,000
OlisnsSH &2 A (K-TH2A)
38,000,000& 38,000
= 19,000
Al 19,000
AILIHA S BEoHE HEXIRA 5,599,000 5,142,400 456,600
=S 320,000
Al 5,279,000
201 fet=3| 20,000 20,000 0




SA: DED
T (IEZDS 245
&el: tsus HEXE (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
01 At2t2ltl 20,000 20,000 0
OHAEH MEXNH 2AHBA ===
20,000,000& 20,000
307 gl2to| & 5,579,000 5,002,400 576,600
=S 320,000
Al 5,259,000
09 2FHHEXS 5,579,000 5,002,400 576,600
OYBHHRIA (SRR L FH)
3,469,000,0002 3,469,000
< 320,000
Al 3,149,000
Ol&oled 24843 Xg
191,000,000 191,000
Ox=2HA 2 K& 50,000, 000& »2CH 100,000
Ox=atA 248 X 24,000,000 »2CH 48,000
OALIEHA B3t 2 X2
27,000,000 *11CH 297,000
OANUHA BX 29 XI#
134,000,000& *11CH 1,474,000
SIS KA (AL ) 1,290,000 0 1,290,000
[ 362,000
Al 928,000
307 212t01& 1,290,000 0 1,290,000
= 362,000
Al 928,000
0 2=EAHELS 1,290,000 0 1,290,000
O8Xcd &a2a=s K&
1,290,000,000& 1,290,000
= 362,000
Al 928,000
NatgiA 2 & 28 A 1,272,000 652,000 620,000
= 552,000
= 276,000
Al 444,000
307 el2to| & 1,272,000 652,000 620,000
= 552,000
= 276,000
Al 444,000
QB 2=gHEXS 1,272,000 652,000 620,000
OM&HA 234l X2
500,000 +28CH =122 168,000
OM&HA = X
92,000,000 *12CH 1,104,000
= 552,000
= 276,000




SA: DS
3 UsusS gdst
el HsnsE MEXH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 276,000
ANEEXNSI RIIEES XS 18,000,000 22,000,000 4,000,000
307 QI2HOIH 18,000,000 22,000,000 4,000,000
09 24AHET2 18,000,000 22,000,000 4,000,000
OS+H SRS
18,000,000,000& 18,000,000
wSA OlsE STAHE = 30,000 20,000 10,000
207 ARl 30,000 20,000 10,000
01 H1E4H| 30,000 20,000 10,000
OS#OIR o IS J=Ne +28Y
30,000,000 *14] 30,000
wWSSFA OlsE2 K& 1,004,794 1,013,063 81,731
Il 60,000
Al 1,034,794
307 212+01& 1,094,794 1,012,623 82,171
Jl 60,000
Al 1,034,794
05 2ItRIE =2 1,094,7%4 1,012,623 82,171
OuEI OISKHME A =29
1,094,793,400& 1,004,794
Jl 60,000
Al 1,034,7%4
WSSFA OISKRAME e Y 138,000 138,000 0
= 69,000
= 34,500
Al 34,500
405 KHaHF S| 138,000 138,000 0
= 69,000
& 34,500
Al 34,500
01 It =S F = 138,000 138,000 0
OnsSaXt OlsSXJHE & (HH X 3
) 46,000,000 *3CH 138,000
= 69,000
< 34,500
Al 34,500
WS HIRHEAl X 546,000 480,000 66,000
= 163,800
Al 382,200
307 gl2to| & 546,000 480,000 66,000
=S 163,800
Al 382,200
09 2FHHEXS 546,000 480,000 66,000
OHIXEAl 2& XI& 546,000,000 546,000




SA: DS
B ERE BA3)
el HsnsE MEXH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 163,800
Al 382,200
Eeic 8Al sS4 X3 845,106 1,468,511 623,405
201 er2 3| 9,250 9,250 0
01 AtR2te|Hl 9,250 9,250 0
O2+3AA UF d=)| SX=
250,000 %14 250
OZSZEHEHAI(100EAl) S22 & BSIHE
HI= 9,000,000 9,000
207 ARl 30,000 30,000
01 H1ESHI 30,000 30,000
ORNISXE BAl SEHI A 4
30,000,000& 30,000
301 EtE NS 840 780,840 /780,000
11 #AIAMHIXI 2 S 840 840 0
OHFE2AR 2tE2l iz
10,0002 * 142 +62 840
307 212+01& 800,700 673,000 127,700
2HHEXS 800,700 673,000 127,700
ON=ZH === X2 280,000,000 280,000
Os4ldl X 57,000,000& 57,000
O&=Al 28I XIE 341,000,000 341,000
O8Al SIISHX WHXHA
300, 000 »409CH 122,700
403 X SHMSAH=01H 4,316 5,421 AT1,105
02 SISt =S A AEHI 4,316 5,421 1,106
O8Al 2SHEE 2| E 2
4,316,000 12 4,316
S3EHAXZ (A nsS2Y) 600,000 0 600,000
[ 270,000
Al 330,000
307 @I2t0| & 600,000 0 600,000
[ 270,000
Al 330,000
09 2FAHEXS 600,000 0 600,000
OZAE NS (38 biA) A
600,000,000 600,000
s 270,000
Al 330,000
23 AN ENE2L-100Al) 1,220,000 0 1,220,000
= 45,000
& 13,500
Al 1,161,500
301 EtE NS 1,220,000 0 1,220,000




SA: DED
B ERE BA3)
el HsnsE MEXH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 45,000
=S 13,500
Al 1,161,500
14 0Bt 2as 1,220,000 0 1,220,000
OZ238 AKX (AU ENES2L-1002 EHAl
) 1,220,000,000& 1,220,000
= 45,000
= 13,500
Al 1,161,500
Hzus 3Hd 3,208,724 2,401,770 806,954
HOIE A& &= 27,780 16,298 11,482
201 2= 9,180 7,200 1,980
01 At22t2ltl 9,180 7,200 1,980
OHOIE 018 ARl AMES(3EX &)+
45,0003 «172f Ax 122 9,180
401 Al HIZ S 0HbI 9,000 9,098 AR
01 Al&H| 9,000 9,000 0
OS0tHAEDIE A= =Al2c
9,000,000 %14 9,000
405 AtatE = 9,600 0 9,600
01 Tt =S F=SH 9,600 0 9,600
OSOHAHDIE degI| S 7
4,800,000 ~2CH 9,600
ZAHAEDE 29 2,212,248 1,765,610 446,638
101 @124H| 129,000 140,062 211,062
M IRINZZENSES 129,000 140,062 11,062
OZLBIAHDIE JIZHNZ2EX 2
32,250,000 x4H 129,000
201 ger=3| 362,248 254,548 97,700
01 At 2|l 314,748 223,048 91,700
OHDIE 22l € AIRESE 78
750,000 * 122 9,000
OR0IZHIAAY B8HE
185,000& « 12 1,860
OZZHAHDIE dMI|agotM2AeIHl S
500,000 * 12 6,000
OFLBAHEOIE A& SXs
21,050,000 «12& 252,600
OZLHAHDIE AlE 2XE(22)
21,050,000& »2& 42,100
O8=J| itz 33,0003 x 12 3%
Osxitd EX 7Y 77,0003 162 A 1,232
Osxtd Zed &4 7Y
150,000 x4 H 600
OsgH| 8,000&x1Ex10& 123 960




SA: DED
3 UsusS gdst
el HEsus &3 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 37,500 31,500 6,000
odIIea 2,500,000& ~12& 30,000
O3 200,000 x 122 2,400
Odales 5,000 *1CH* 122 60
OoAolE v S 20,0002~ 12& 240
OEIDIZ T4 el D
1,200,000 *14] 1,200
OANl4d =Al 2= 300,000 x 12 3,600
307 @I2t0| & 46,000 46,000
05 glt?(& = 46,000 46,000
Otlg 34 g9 46,000,000& *14] 46,000
401 AIEHIZ R 0HYI 5,000 5,000
01 Al&H| 5,000 5,000
OAlE 88| 5,000,000 * 14 5,000
802 grat= DI E 1,680,000 1,320,000 360,000
03 JIEtEtE S S 1,680,000 1,320,000 360,000
O=2&8H s AZEE N3
140,000,000& x12& 1,680,000
HA BAl s238 &1 & 2l 408,300 412,876 N4,576
201 fer=3| 16,000 16,000 0
02 s3=gHl 16,000 16,000 0
OsZE S3FHI(EA S)
8,000,000& 22 16,000
202 04l 2,400 2,400
01 SLHoIH 2,400 2,400
OHA BHAl 238 g8
200,000 «1H*12& 2,400
401 AIEHIX 20HH 389,900 394,476 N4,576
01 AlZ2H| 388,000 392,000 24,000
OHA BAl s3d A4 & WA
150,000,000 150,000
OsZ& 014 At 100,000,000 100,000
OsZd 225 21 & EA
300,000 #3129 2= 93,600
OAILIH A, BIAl s2& AldE S|
150,000& * 1002 15,000
OAMUHA 528 ZSAIE ZHI
600, 0003 *24H 2 14,400
OL= MU A SAl S2E THIBA
500,000 *307H 2 15,000
03 AIZ S THYI 1,900 2,476 ADb76
OAlIZ =2 0Hbl 1,900,000 1,900
STE HA ds2H EX & 22 60,000 20,216 39,784
401 AIEHIZ SR OHYI 60,000 20,216 39,784




SA: DED
3 UsusS gdst
ol HEsuns 3Hd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 59,460 20,000 39,460
OL= HAl, AlLitHA dE-12E HAIS
494,600 *200H 2 9,892
OALHA, SNl 52T HE72 Mg
2,478,400 2000 2 49,568
03 A& S CHYI 540 216 324
OAIZ20HHI 60,000,000 0. %% 540
HARE OHHAIAE(BIS) AXI & 2te] 500,39% 186,770 313,626
201 er23 | 106,39%6 66,770 39,626
2 s5=g4l 106,3% 66,770 39,626
OHA S2E oD |Al2el 84
8,000,000& *14] 8,000
OHAZEAIAH(BIS) MIIRS 87,5%
—HAZEAIAE(BIS) HIIRS
31,996,000 31,9%
—SAUR(LRR, ORIEYE S) ®IIR
= 55,600,000 55,600
OHA WSIHEHTI| ALE 2lis
15,0002 *60CH* 122 10,800
401 AIEHIZ SR OHYI 394,000 120,000 274,000
01 Al&HI 394,000 120,000 274,000
OHAFHEAIAR(BIS) BH HE 70,000
—HAZBAIAG(BIS) K22 B
70,000,000 * 14 70,000
OL® HAFEHADI(BIT) WAl
540H+6,000,0002 324,000
wNSEAN =g 8,528,774 19,040,701 A10,511,927
= 4,590
< 2,781,140
Al 5,743,044
wsSEN =g 570,99 765,338 A19A4,342
= 4,590
=S 10,140
Al 556,266
=Y =X o 328,460 501,488 173,028
101 ©1AH| 58,516 56,686 1,830
M ORNZZ2NSE S 58,516 56,686 1,830
OFEXct: dREXR(ANREX 18, S8F
Hl &% S 19)) 29,257,800 2 58,516
201 er23| 69,184 68,542 642
01 At2teltl 25,990 25,342 648
O=dit=A 88 =% M
66,0002 x50& 3,300
SEYHFEI USLSEMHIA QHY EES
NESIES 2,000,000 *14] 2,000




FA WS
B DEIN =
29 uSEM 28 (EH9): ®2)
SA - ZE - B2(30) - HRAS of v G o HIDE2
OSE=Ex H28E 19
500,000& 14] 500
OSEFE HHSER HAI =8
100,000 * 122 1,200
O=ZX2IE UEHZ JHAAE EHAIAE
=R 1,350,000 * 141 %1 1,350
O=2AIH THSKel 2elANASE FX24
330,000 * 122 3,960
OSHZHX S22 ALY N8R U 8
A= ==H| 900,000& * 128 10,800
OFxt2e| 2= SHI(S2A Z8)
8,000& x10+33|* 122 2,880
2 52484l 43,194 43,200 aNG)
OSgF=8xt HE5XE | 2l 12,954
— XS XA (48228347, 52525543)
200,000 *2CH 400
—H=R RF(F2R)
1,599 %33, 000km~ 10%+2CH 10,554
~XEH 2 42F 79
2,000,000 *14! 2,000
OLUFACWIV 2SIt HJIRs 29,520
—SUIEI oAl
30,0003 320~ 12 11,520
—ol20|E s cag
1,500,000& «12& 18,000
OH£E Slidst 23
30,0008 «2CH* 122 720
202 04| 15,260 15,260 0
01 2K 8,780 4,700 4,080
SYFHT NTCHE ADEA Off)
7,780,000 * 14 7,780
OSYZEIM AT ALEA OHI(22
=) 1,000,000 %14 1,000
02 A0 6,480 10,560 24,080
OSYFIR NS HRFA (N
od8l) 180,000 x3&* 12 6,480
401 A2 HIZL R 0HbI 185,500 361,000 175,500
01 Al&HI 185,500 361,000 A175,500
Osg=Ei=X EXE XA, =F)
5,000,000 * 14 5,000
OsSYFIASX L2t WH(AR, =)
5,000,000& *14] 5,000
OusSHMEX A MREX & RA2+
5,000,000 * 14 5,000
O=EXSX =HHAl SA4(6km)
5,000,000 * 14 5,000
OAtd MMM 280,000 *1007H 2~ 28,000
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SA: DED
Hy: DEIA =
SRl WSEAM EE EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OdeIxtg Jdl & A28 7
300,000+ 1CH*23] 600
401 A& B2 20HY| 1,000 52,562 A51,562
01 AlEHI 1,000 52,000 A51,000
OdeIXteE 24 sZ Y|
1,000,000 *14] 1,000
NALMSRAX WS 54,479 55,261 ANT82
101 @124t 46,211 46,993 ANT82
M IIRNZ2E2XsSEs 46,211 46,993 AT82
O] 46,211
=Jl=3 62,4603 * 14«37 32,355
-5 62,4603 * 14 +6 5,247
— X 62,4603 * 141 875
—Fd=E 31,2303+ 14Z 7 3,061
—4UEEE S 4,672,380& x 14! 4,673
201 L2 | 8,268 8,268
01 AtR2telt] 8,268 8,268
OXHALYMIATIN =N ERV 2R= 700
—ZJI(5ts) = 50,0003 * 145 700
ONLURAT DESHEE 7 (2ES
, ciutiE 8) 6,000,000 * 14! 6,000
OXHLYMRAX| nEXNT 22X =&l
8,000& 14«14 1,568
NEX 2HHES A& 2MEIS XA 108,500 60,000 48,500
2 4,590
& 10,140
Al 93,770
301 LPENSZ 108,500 60,000 48,500
= 4,590
= 10,140
Al 93,770
14 JIEt2 43 108,500 60,000 48,500
ODBX 2HOIS| ALY IMES T2
300,000& 300 90,000
= 4,590
= 4,590
Al 80,820
O2& 3 [HEgtd ¢e19tE 2 Al
& 500,000 +7CH 3,500
& 1,050
Al 2,450
ONE2HIt IMHEHOIEZEEX XA
500,000& *30CH 15,000
= 4,500




A WSt
B DEIN =
el WSEM =E (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
| | Al 10,500
wS HHAIEdZE &F L 2 3,188,538 6,285,903 A3,097,305
S 771,000
Al 2,417,598
ns HEAIEES KAt 991,010 4,137,400 23,146,390
< 321,000
Al 670,010
201 LBt 5,220 131,400 A 126,180
01 AtR2telbl 5,220 5,400 A180
OuSAEERFA =&l
8,000& x4+« 123 1,920
O0eloIE22+Y 82 & SYFER
=Kl =2 HE ,000& »30& 1,980
OHEEE 5030, 2 & wSotd S0 K|
& 66,000% x20% 1,320
401 AlIEHIZL 2 OHYI 985,790 4,006,000 23,020,210
== 321,000
Al 664,790
01 AlZHI 980,000 4,000,000 23,020,000
Ot - Mo 2B HIH0et & X
170,000,000& * 14! 170,000
S 51,000
Al 119,000
Ot - MS 2B HEIHS BAle=E
15,000,000 & * 14! 15,000
OANtE2HEE: EX
300,000,000 *14] 300,000
s 120,000
Al 180,000
Ouiz g2 ZHER &X
200,000,000& =14 200,000
< 80,000
Al 120,000
OAlgld E2E fet ¢ad ZXg 4X
80,000,000 x14! 80,000
S 32,000
Al 48,000
OgF2g 2T 4X
80,000,000& *14] 80,000
< 32,000
Al 48,000
OAIRREXS A8F&2S &1
15,000,000 x 14 15,000
= 6,000
Al 9,000




FA WS
B DEIN =
el WS AEAIE=E EFE E 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oogger tdxd &X
40,000,000 *14] 40,000
OuSHEAIZ= &1 & AUES
80,000,000& *14! 80,000
03 Al 20HHI 5,790 6,000 A210
OAIZ20HHI 5,790,000 5,790
oHelol(=e)es+4 e 654,500 1,275,800 621,300
= 300,000
Al 364,500
401 AlEHIZ 201 654,500 1,275,800 621,300
= 300,000
Al 364,500
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